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gtSHOH L 1t 10,244,395 8,221,674 2,022,721
= 800,000
Al 9,444,395
EHZH=AMF LS|t S 10,216,065 8,221,674 1,994,391
= 800,000
Al 9,416,065
EZH =T FAILRA 8,194,393 8,054,994 139,399
= 800,000
Al 7,394,393
st=agstd S X3 4,789,193 4,637,994 151,199
306 =93 4,789,193 4,637,994 151,199
01 &3 4,789,193 4,637,994 151,199
Ogt=CsldNTUER 2 4,789,193,000& 4,789,193
SEIHOHLIHOI & H AEIH 810,000 1,070,000 260,000
307 21201 A 810,000 1,070,000 260,000
04 DIZHHALALSE E X 810,000 1,070,000 A 260,000
OFHEZMOHLMOI&EHAEZE K
810,000,000 810,000
ClIXg otst =8 2435 800,000 800,000 0
= 400,000
Al 400,000
307 21201 A 800,000 800,000 0
= 400,000
Al 400,000
02 B AAFE X 800,000 800,000 0
OUXg et =843t 800,000,000& 800,000
= 400,000
Al 400,000
otstdlE & o MEAXH 467,000 667,000 A200,000
307 gl2tol & 467,000 667,000 200,000
02 It M AHE L 467,000 667,000 A 200,000
Ootst - HLIZ2EI = X 467,000,000 467,000
Ot &2t 800,000 800,000 0
= 400,000
Al 400,000
307 glz2+ol & 800,000 800,000 0
= 400,000
Al 400,000
02 QB HAANGEEE 800,000 800,000 0
O8tst 7 &2t 800,000,000 800,000
= 400,000
Al 400,000
AES 22 ZZHE AY 500,000 0 500,000
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307 212t01 & 500,000 0 500,000
02 DIZtZAAMEE X 500,000 0 500,000
OYE?S 2 2Y T2 NME AFY 500,000,000 500,000
Ot 2E = MH X 28,200 0 28,200
201 et A | 1,200 0 1,200
01 AFR22t2ld] 1,200 0 1,200
ORFEINASSH HIXIF SAH|
7,000& *100H *13] 700
OFEZHOHLIHOIEHAEY HAEXI SAH|
500,000& 500
202 04t 20,000 0 20,000
03 2AHR0H| 20,000 0 20,000
OLtlofLIAMY i E S XL
2,000,000& =104 20,000
203 YR =&H| 7,000 0 7,000
03 A =X R =XH| 7,000 0 7,000
Ootgintgdssd dRFA 7,000,000& 7,000
OIS Al AFY Ol el &) 2,021,672 166,680 1,854,992
O3S Al & 0] O XI A 1,104,050 46,680 1,057,370
201 et A | 404,050 36,680 367,370
01 AFR2t2l Yl 224,050 19,680 204,370
OMelHHM M & 45,000 #2008 9,000
OHA=EXNHEH S AUSIHH = AP LI
2,000, 000& =109 £ 20,000
OLtg g 7 200,000& *15& 3,000
QLI M2 o QLM ED} 39 = 1,050
A= 70,000& *3H x53] 1,050
Ot I DNg A2 3o =& 1,000
A= 70,000& *10H *13] 700
— =1 30,000& *10H *13] 300
O33=223 HZEH| 300,000& *30AH 9,000
OxS&u 684 otgtna 29
171,000,000 171,000
ONUFMLIANY =822 & H& 10,000, 000& 10,000
02 53294l 8,000 8,000 0
OLtgilsly AIE 22 5,000,000 5,000
Ootghsly =2 22l 3,000,000& 3,000
03 SHAIS H I 172,000 9,000 163,000
Obtatlbs (MelAHAM DdFI1) #HARE 18,000
—AE OSIIH 29 50,000& *2H x503] 5,000
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SR QST AIS AFY QlZet =Y (&)
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—dE=NHEH S 2eotH2d
50,0003 «1H *203| x6 4 & 6,000
—SHEANH S XA 50,000& x2H x56 2 5,600
—MEHl (a7 ) 700,000& »23] 1,400
Ogtat & OHUIMIOIE W AEIE ALK& 104,000
— B3t =H 46,000,000 46,000
— OHLIGI Ol & HI A EIEH 58,000,000& 58,000
OX<S gtoteiAt 29 50,000,000& 50,000
401 AIEHI L 2CHEI 700,000 10,000 690,000
01 A& Hl 700,000 10,000 690,000
OZB3AEE 5 st Al OI0IX A 700,000
—33AME &F 2tg XEE £X
10,000, 000& *109H £ 100,000
— OtHIE Ctat E3stAtY S OI0IX =4
100,000, 000& 100,000
—otstel =4 500,000,000& 500,000
EgFasdt 29 702,622 0 702,622
308 X XIEHHSOIA 702,622 0 702,622
10 BN 2SUHUS3AHHH A 702,622 0 702,622
STEUS0tE 23 & At
533,682,000 533,682
OXggdst N3 22| WA 168,940
—2MEHS0Y 29 77,940,000 77,940
—Eg0=0te 2teotm ¢ 91,000,000 91,000
FIZE = ™AL A 215,000 0 215,000
401 AIEHI L 201 215,000 0 215,000
01 A& HI 215,000 0 215,000
OAME HSOtE =24 =3 A
15,000, 000& 15,000
OFEQSHE AGEY SHAD X4
200,000, 000& 200,000
HH2HZ I (2HSHOHLI D) 28,330 0 28,330
Jl2Z3l 28,330 0 28,330
JlE2&l 28,330 0 28,330
201 ¢er24| 11,040 0 11,040
01 At 2t 2l 11,040 0 11,040
ORNEY Jl=H| 11,040
— 23l 40,0003 x9H =128 4,320
— =2l 50,000 x9H » 122 5,400
— SOoFHIANAE S| 110,000& =128 1,320
202 O4dl 12,960 0 12,960
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01 = LH 4 bl 12,960 0 12,960
OgRFA Jl=0Hl 120,000 9« 12& 12,960

203 YR =2t 3,000 0 3,000

04 NI FAH 3,000 0 3,000
ORN2EYE=AHI 250,000& 1228 3,000

405 KtobH S| 1,330 0 1,330

01 AL ESFH S 1,330 0 1,330
OMRE 2MMEI 2 730,000 = 1CH 730
oolug v 2 600,000& »1CH 600

- 121 -




